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Section : English Language (Basic Knowledge)

Q.1 Select the most appropriate synonym of the given word.

TRUST (n)
Ans x 1. Ability
2. Welfare

3. Safety

L X X

4. Belief

Question ID : 8161611290
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate ANTONYM of the given word.

EXTENSIVE
Ans x 1. Elaborate

x 2. Intricate
x 3. Lengthy
J 4. Intensive

Question ID : 8161611282
Status : Answered
Chosen Option : 4

Q.3 Select the word with the incorrect spelling.
Ans 1. Quantity

2. Argument

3. Quarrell

X € X X

4. Aisle

Question ID : 8161611286
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate option to fill in the blank.

Several environmentalists from the city conducted a meet to discuss issues related to the
pollution levels created by the growing number of pharmaceutical companies.




Ans
x 1. raise in
x 2. rising from
x 3. raising of
J 4.risein
Question ID : 8161611293
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.
One of the most fascinating archaeological sites in Maharashtra, the Ellora Caves, date back (1) about
1,500 years ago, and (2) the epitome of Indian rock-cut architecture.
(3) 34 caves are actually Buddhist, Hindu and Jain religious monuments (4) in the rock. They
were given the (5) of World Heritage Site in 1983.
Created between the 6th and 10th century, the 12 Buddhist, 17 Hindu and 5 Jain caves carved in
proximity at Ellora are proof of the religious harmony prevalent during this period of Indian history.
SubQuestion No : 5
Q.5 Select the most appropriate option to fill in blank No.1.
Ans

Jl. to
Ko
Ko
x 4.in

Question ID : 8161611273
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

One of the most fascinating archaeological sites in Maharashtra, the Ellora Caves, date back

(1) about 1,500 years ago, and (2) the epitome of Indian rock-cut architecture.
(3) 34 caves are actually Buddhist, Hindu and Jain religious monuments (4) in the
rock. They were given the (5) of World Heritage Site in 1983.

Created between the 6th and 10th century, the 12 Buddhist, 17 Hindu and 5 Jain caves carved
in proximity at Ellora are proof of the religious harmony prevalent during this period of Indian
history.

SubQuestion No : 6

Q.6 Select the most appropriate option to fill in blank No.2.
Ans « 1. are
x 2. were
x 3. be
X ais
Question ID : 8161611274
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
One of the most fascinating archaeological sites in Maharashtra, the Ellora Caves, date back
(1) about 1,500 years ago, and (2) the epitome of Indian rock-cut architecture.
(3) 34 caves are actually Buddhist, Hindu and Jain religious monuments (4) in the
rock. They were given the (5) of World Heritage Site in 1983.
Created between the 6th and 10th century, the 12 Buddhist, 17 Hindu and 5 Jain caves carved
in proximity at Ellora are proof of the religious harmony prevalent during this period of Indian
history.
SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank No.3.
Ans

X 1.An
X 2. Many
X 3. Few
f 4 The

Question ID : 8161611275
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

One of the most fascinating archaeological sites in Maharashtra, the Ellora Caves, date back

(1) about 1,500 years ago, and (2) the epitome of Indian rock-cut architecture.
(3) 34 caves are actually Buddhist, Hindu and Jain religious monuments (4) in the
rock. They were given the (5) of World Heritage Site in 1983.

Created between the 6th and 10th century, the 12 Buddhist, 17 Hindu and 5 Jain caves carved
in proximity at Ellora are proof of the religious harmony prevalent during this period of Indian
history.

SubQuestion No : 8

Q.8 Select the most appropriate option to fill in blank No.4.
Ans « 1. carved
x 2. created
x 3. erected
x 4. constructed
Question ID : 8161611276
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
One of the most fascinating archaeological sites in Maharashtra, the Ellora Caves, date back
(1) about 1,500 years ago, and (2) the epitome of Indian rock-cut architecture.
(3) 34 caves are actually Buddhist, Hindu and Jain religious monuments (4) in the
rock. They were given the (5) of World Heritage Site in 1983.
Created between the 6th and 10th century, the 12 Buddhist, 17 Hindu and 5 Jain caves carved
in proximity at Ellora are proof of the religious harmony prevalent during this period of Indian
history.
SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank No.5.
Ans

< 1. symbol
X 2.role
o 3. status
X 4. function

Question ID : 8161611277
Status : Answered
Chosen Option : 3




Q.10 Given below are four jumbled sentences. Select the option that gives their correct order.

A. “It is mine. | saw it first," claimed one cat.

B. Suddenly they spotted a loaf of bread lying beneath a tree.
C. Once upon a time, two cats were passing through a street.

D. Both pounced upon it and caught the loaf at the same time.

Ans X 1.DBCA

X 2.BADC
W 3.ceDA
X 4.ADBC

Question ID : 8161611278
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate meaning of the underlined idiom in the given sentence.

A lot of work has gone onbehind the scenes for the special event which is being planned
next week.

Ans J 1. Unknown to everyone
x 2. To complete the arrangements
x 3. For spreading the news

x 4. In the theatre

Question ID : 8161611285
Status : Answered
Chosen Option : 1

Q.12 Select the segment in the sentence, which contains the grammatical error.

Did you know whether we can exchange the dress if my sister doesn’t like it?

Ans x 1. doesn’t like it
x 2. we can exchange the dress

x 3. if my sister

J 4. Did you know whether

Question ID : 8161611270
Status : Answered
Chosen Option : 4

Q.13 Select the alternative that will improve the underlined part of the sentence. In case there is
no improvement select ‘No improvement’.

Harry and Meghan have decided to work and becomefinancially independent.

Ans x 1. have decided to work and became
, 2. No improvement
x 3. has decided to work and become

X 4. have decide to work and become

Question ID : 8161611281
Status : Answered
Chosen Option : 2




Q.14 Select the most appropriate synonym of the given word.

ALLURING
Ans x 1. Distracting
2. Cheating

3. Attractive

X § X

4. Deceitful

Question ID : 8161611291
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate meaning of the underlined idiom.

Hats off to someone
Ans x 1. Give hats to
X 2. Make new hats for
x 3. Announce a prize for
v

4. Congratulations to

Question ID : 8161611284
Status : Answered
Chosen Option : 4

Q.16 Select the word which means the same as the group of words given.

A large natural or artificial lake used as a source of water supply

< 1. pool

o 2. Reservoir
X 3. Creek
X 4. pond

Ans

Question ID : 8161611289
Status : Answered
Chosen Option : 2

Q.17 Select the most appropriate ANTONYM of the given word.

ABBREVIATE
Ans x 1. Challenge

2. Expand

v
x 3. Oppose
X

4. Dispute

Question ID : 8161611283
Status : Answered
Chosen Option : 2




Q.18 Select the option that is the direct form of the sentence.

The doctor advised Jaya to put the eye drops into her eyes four times a day from the next day.
x Ans1. The doctor advised Jaya, “From tomorrow put the eye drops into her eyes four times
a day.”
x 2. The doctor advises Jaya, “From the next day put the eye drops into your eyes fourtimes
a day.”

J 3. The doctor advised Jaya, “From tomorrow put the eye drops into your eyes fourtimes a

”

day.

x 4. The doctor had advised Jaya, “From the next day you put the eye drops into youreyes
four times a day.”

Question ID : 8161611269
Status : Answered
Chosen Option : 3

Q.19 Select the option that is the passive form of the sentence.

The sub-committee is presenting its report in a week’s time.

x 1. The report of the sub-committee has been presented in a week’s time.
J 2. The report of the sub-committee is being presented in a week’s time.
x 3. The report of the sub-committee had been presented in a week’s time.

x 4. The report of the sub-committee is presenting in a week’s time.

Question ID : 8161611268
Status : Answered
Chosen Option : 2

Ans

Q.20 Given below are four jumbled sentences. Select the option that gives their correct order.

A. 1bn Al-Haitham wrote a book in seven volumes namely ‘Kitab al-Manazir’ also known as

‘The Book of Optics.’

B. However, during the medieval period, the notable work of an Arab writer and scientist, IbnAl-Haitham
revolutionised the concept of physics.

C. During the ancient period, the development of Physics took place simultaneously withthe development
of astronomy.

D. In this book, Ibn Al-Haitham disproved the ancient Greek concept of vision andintroduced a new
theory.

Ans J 1. CBAD

2. ACBD

3. ADBC

X X X

4. BCDA

Question ID : 8161611279
Status : Answered
Chosen Option : 1




Q.21 Select the most appropriate option to fill in the blank.

Astronomy enthusiasts and sky gazers will be able to watch six eclipses in 2020, but only three of them
are expected to be in India.

x 1. revealed

Ans
2. exposed

3. visible

X § X

4. evident
Question ID : 8161611292

Status : Answered
Chosen Option : 3

Q.22 Select the word which means the same as the group of words given.

Close fitting cover for a sword or knife
Ans 1. Screen

2. Sheath

3. Shield

X X € X

4. Guard
Question ID : 8161611288

Status : Answered
Chosen Option : 2

Q.23 Select the alternative that will improve the underlined part of the sentence. In case there is
no improvement select ‘No improvement’.

I had no informations aboutthe bank strike so | went there yesterday.
x 1. No improvement
X 2. no informations concerning
x 3. not got informations about

J 4. no information about

Question ID : 8161611280
Status : Answered
Chosen Option : 4

Ans

Q.24 Select the wrongly spelt word.
Ans 1. Extinct

2. Expidition

3. Experiment

X X & X

4. Extempore
Question ID : 8161611287

Status : Answered
Chosen Option : 2




Q.25 Select the segment in the sentence, which contains the grammatical error.

They had to wait for the luggages to be put into the cab before they themselves got into it.

Ans x 1. before they themselves got into it
x 2. They had to wait

J 3. for the luggages

x 4. to be put into the cab

Question ID : 8161611271
Status : Answered
Chosen Option : 3

Section : General Intelligence

& T e B W A F T TE HER-HHE F T H
_bac_ac_acb_ _ ba

Ars of1¢ b, b, a,
X2a,cc b,
X3 a, b, b, a,
X4c, a b, b,

0O o T o

Question ID : 8161611304
Status : Answered
Chosen Option : 1

Q2 g gEar #= T H, S RU 9T Yo F weAa=E B (7) F T W A T L

600 720 880

JAN

25 3 27

Ans X123
X217
X 3 21
v 31

Question ID : 8161611298
Status : Answered
Chosen Option : 4




@3 T A PQ T W W@ A R & TE G F T ador oy o= w0
TeT 3Tepic:

P

(1L

Q
Ans

v

0
=
<[ L
=

Question ID : 8161611317
Status : Answered

Chosen Option : 1

4 R AT VR W FHT YR @ FoHT xR Y FTant v
F15@2+900&30#10=72
Ans o 1. 50
X2 310
X3 21
X 4 600

Question ID : 8161611295
Status : Answered
Chosen Option : 1




Y 3@ REeT FT TUA Y, S AR Ao ¥ g a8t 3
EC. H. HE, N. Kl.U
Ans ,1U
X 2N
X > HF
X 4 EC

Question ID : 8161611309
Status : Answered
Chosen Option : 1

¥ & T gy & P T W= w1

Ans of 128
X2 24
X318
X 4 46

Question ID : 8161611314
Status : Answered
Chosen Option : 1

Q7  fedr fafRea e oo &, RUMMY # QVLNX for@r smer &1 338 & s & CHESS & & forr
SreE?

Ans X 1 BGFTR
X 2 BGDTR
v > BIDTR
X + BIFRT

Question ID : 8161611302
Status : Answered
Chosen Option : 3




Qs TR ¥ R e S ¥ & R 9eR ¥ w9a § AR oF 3T §| 3W T g F A H

X1 g

Ans
X FE-FE,
X FoT,

VES i

Question ID : 8161611310
Status : Answered
Chosen Option : 4

Q9 37 RereT 71 TIw Y, T & 7 ey sEfifE ¥ (g & sl 8 R
92T 3MTepiah:

X

XL

Ans

Question ID : 8161611315
Status : Answered
Chosen Option : 3

38 e # 999 HL TEH AW AT F T FEY g, S T G A F TR AeE H g
Q.10 AR BT 1 FeER : ?

Ans Jl. i IEE[
X 2 HfP=Aar
X Qe
X FATE,

Question ID : 8161611308
Status : Answered
Chosen Option : 1




30 RweT F1 907 #Y, Swer W g § IE I §, S T g Ig F EA 9 F ¢
11 CAG : GEK : HEL : ?

Q

ae ¥ LIP,
X GAC,
X INP.
X LEP,

Question ID : 8161611305
Status : Answered

Chosen Option : 1

38 GEAT FT TUT FY, 3 AeAterad Aol F gesaras Read (?) F T W 3T Ghar 2
Q12 126, 217, 344, 2

v X729,
X 512,
X 521,
v 513,

Question ID : 8161611299
Status : Answered
Chosen Option : 4

Q13 g Fwar & 9a &Y, S Pl At #F geawe RET (?) § T WO g
213, 217, 233, 269, ?

Ans o 1333
X2 312
X 3 428
X 4 296

Question ID : 8161611301
Status : Answered
Chosen Option : 1

IR TN & T §, T ¥ O Bl R @ e § 3R ve aEea § 39 e §ET & 99

Q.14 R

as < 676,
X 144,
v 81,
X 256,

Question ID : 8161611300
Status : Answered
Chosen Option : 3




3 HER N TIS FY, SN AeATRT H@e H GG R (?) & T TR AT FeheT g
Qis A C.EDCEGF?

ans P8 H,
X D,
v E,
X e,

Question ID : 8161611306
Status : Answered

Chosen Option : 3

PO#FRTMEAR QHA NS PH AL Q SH =g TRHITs$ & T &

Question ID : 8161611307
Status : Answered
Chosen Option : 3

Q.17 e & g @ e RAfdes ufdat @ gefar mar ¥ 30 dew # 999 Y, S gEr 5 3ifed vow &
Bl wers 9T grefl

N

v
X3 6
X433

Question ID : 8161611312
Status : Answered
Chosen Option : 2




Q18 Furer & v gk B AES F FA AR AP AT FE B FeS B R goT amplaat F gy 7 T
FES F I Tieed W Tg HAT G@IM?

R HTpia:

Ans

Question ID : 8161611316
Status : Answered
Chosen Option : 1

Q.19 In the given Venn diagram, A denotes mangoes, B denotes bananas, C denotes apples, and the numbers in each section
represent the number of persons who like those fruits. How many persons like only bananas?

Question ID : 8161611318
Status : Answered
Chosen Option : 1




3H AT B AT FE, AT & S SpTA-sEer F weaarTw Qe (7) F TT W I T
g TP

see
[ Add Addd
—
e

Q.20

Ans

J 5 AdML
ere

X 3 | b

Question ID : 8161611313
Status : Answered
Chosen Option : 2

Q21 3y e &1 98 Y, Torww IEY TE ¥ I TE ¥ A GEY gAY TEIA F TEAN T L
2751257 8485 ?

Ans - X 11000
X 2 512
V'3 729
X 4 1343

Question ID : 8161611296
Status : Answered
Chosen Option : 3




T v IR gt & ¥, 9go O R fAREa qomel & 3R 9T ger R v § 39 o &
YR W, g7 o v 917 =i gdewor & T 58 3ea) A9 =1

6 =5 =91
8«7 =169
10 + 7 = 211

Q2222+5=7?

Ans x 8451
X 993,
X 678,
v 331,

Question ID : 8161611294
Status : Answered

Chosen Option : 1

Q23 3z Fear # T FY, A e v e F veAa=d BEA (?) F TS W 3 TS B

10 17 8
5 3 15
6 14 ?
42 68 92
ans X146
X225

v 23
X410

Question ID : 8161611297
Status : Answered
Chosen Option : 3

If 683 is coded as FOX, 654 is FIN, 4581 is NIOC, then what will be the code of 654513?

Q.24

as ¥ FINICX |
X FINNCX,
X FIXICN,
X FNINXC,

Question ID : 8161611303
Status : Answered
Chosen Option : 1




Q.25 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
All woods are roots.
All fruits are roots.

No woods are a fruit.

Conclusion:
(I) Some roots are fruits.

(II) All roots are woods.

Ans X 1. Neither conclusion I nor conclusion II follows

/< 2. Both conclusion I and II follows

« 3. Only conclusion I follows.
X 4 Only conclusion II follows.

Question ID : 8161611311
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude(Basic Arithmetic Skill)

Q1 (6530°-sin30°
s5in60°+cos60°

XK1 2+443
v>2-43
X31-+3
XK+ 1+43

FT AT AT FL

Question ID : 8161611337
Status : Answered
Chosen Option : 2

M @2-1238)  x ( 10) # TR SR FT ST
(3" —6x4+x7)
s X1 4
X3
v
X2

Question ID : 8161611336
Status : Answered
Chosen Option : 3




Q.3 TR A TEs 3 em iR e em Y AR A g A e Y em @, A e A ¥
Fia-ar ereT e ¥

Ans o1 5<x<1l

X2 x>11
X3 5<x

X4+0<x<ll

Question ID : 8161611330
Status : Answered
Chosen Option : 1

Q4 g $r amm, AT & 37 ¥ 25% 30 T AT Hr 3, TR 6 3w T oy gied w7 2

Ans X1 22%
X 2 15%
V'3 20%
X 4 18%

Question ID : 8161611324
Status : Answered
Chosen Option : 3

Q5 fam e &R W 6 T A, B, C, D, E 3R F #F R-Regdpa et & siaerd v gufar #1
IMF F HeTTA F{ 3N 30 FaT Fod HT 3ca? &

Percentage of non-electrified villages

70 3

60

50

Percentage

fraet Tt F o 30% I 3EW FH R-Regdga T §2

40

10

5

60

50

A

Ans J 1. 3

X2 1

X532
X4

State

Question ID : 8161611340
Status : Answered
Chosen Option : 4




¢ 4 : 7 & yciw ug i fraar Sisr Sw S g 2 : 3 @ Se?

Ans X1 3
X21
X3 4
Va2

QuestionID : 8161611326
Status : Answered
Chosen Option : 4

Q.7 T sec?x —3secx+2 =0 §, @ x(0 < x <90°) F AT FIAT gM?

Ans  of 1 60°
X 2 450
X3 15°
X 4. 30°

Question ID : 8161611339
Status : Answered
Chosen Option : 1

*® afr cosechd+cotd =2 & G sin F AT AT FILI

ans
xw%
xz;
wg

Question ID: 8161611338
Status : Answered
Chosen Option : 4

9 gfr a®+p*=203Ra+b=">5, a a*+ b* F AR AT F

Ans X125
X224
X3 26
v 23

Question ID : 8161611333
Status : Answered
Chosen Option : 4




@19 Study the following graph and answer the question.

500

500 India’s Biscuit export
450

400 +
350 + 330
300 +
250 -+

= 200
150 150 150 160
150 +
100
100 + 75

=]

2005 2006 2007 2008 2009
@ Quantity ( in lakh tonne )
DO Value (in Rs. Crore )

In which year was the value per tonne the minimum?
Ans of 12005

X 2. 2007

X 3. 2006

X 4 2009

Question ID : 8161611343
Status : Answered
Chosen Option : 1

& a1$ 3mpfa #, e AB AR CD whg@ & fig L W sfo=ofem wch 1 AB & ofarg i Y|

Qi
ae ¥ 215 cm,
X 235cm,
X 245 cm,
X 225 cm,

Question ID : 8161611329
Status : Answered
Chosen Option : 1




T AU 9T 8 ISt 3T 10 Il s WURUT et #T 3HaX 3200 ¥ 3R AT @ &7 10% I1es ¥, ar
et fFaer 82

Q.12 °~

e K1 %1,400
v 2 31,000
X 3 %1,600
X 4 %1,200

Question ID : 8161611327
Status : Answered
Chosen Option : 2

memﬁwmwﬂso%mmsﬁmm%lfﬁ»‘(ags?rm#rafrss%
Q13 ' T T AT §| 3HH @ Sewre e

e X 17.5%,
X 185%,
X 16.5%,
v 155%,

Question ID : 8161611323
Status : Answered
Chosen Option : 4

Q.14 Greg v vae F 15% T Efer T 32,55,000 F F=ar &1 10% @M FAW F HT 38 57 A F
e FeT & e wifgw o

Ans X 1 ¥3,33,300
X 2. %3,00,000
v 3 3,30,000
X 4 %3,33,000

Question ID : 8161611325
Status : Answered
Chosen Option : 3

Jod F HZ W, 24 cm WS TN A W 5 cm S AN TH oF Wi AT &1 Ied H AH AT

as < 32 cm,
v 26 cm,
X 13 cm,
X 30 cm,

Question ID : 8161611328
Status : Answered
Chosen Option : 2




& FEHT F @ F AR 43 3N 37 UGS 50 §1 3k T F AT A Hfw]

Q.16

e ¥ 1949
X 1946,
X 1948,
X 1947,

Question ID : 8161611332
Status : Answered

Chosen Option : 1

T Sooarsl 39T 113 9t § 77 & sa1ar 2, w35 3iea TR 3 98 Sar g1 118 98 F a1
Q.17 39 HEa TR T 87

X 48,
X 49,
v 47 .
X 46,

Question ID : 8161611322
Status : Answered
Chosen Option : 3

Q18 zfy AABC #r = BC &7 7w fig M g, 3l AABM &7 &S0 18 cm’ &1, & AABC &7 &%l AT
Exd

X1 32cm
X 2 30 cm
v 3 36cm
X4 34 cm

Ans

2
2
2
2

Question ID : 8161611331
Status : Answered
Chosen Option : 3




Q19 frw o aw amw F 9 1992 F At g & A §E TsF gueA F @ A Aiat Hr T quid w8
g TF F CAHAEF HewIT B AR R T 9o 1 3w &

185 g
180 +
175 +
2 -+
£ 170 g
é 165 + §
E 160 + 2
s 155 + §
2 150 + 9 |—|
145 + %
20 L1 [
30 :I 14 21 Z|8 a 11
June July August

Weeks

Fa-H & HAF Fear! F = A Hr d;q F T #vw R g M

KL 14 SeE ¥ 21 SeE
v 30 ST & 7 IR
K3 21 8 ¥ 28 Jos

X4 4 3@Eg | 11 398

Question ID : 8161611342
Status : Answered
Chosen Option : 2

Q.20 x 3k Y vk @y e e 3 1 15 fF # [ W T €, TG Y 3R 50 FH &1 40 et
T F TR &1 X P Hohel g HIH W & o et oeer?

24 R
X223 fas
X3 25 R
X 4 26 fea

Question ID : 8161611319
Status : Answered
Chosen Option : 1

Q21w amE#t 20 km/h ¥ T X F Y TARF R A1 8, AT Y F X T4 W 25 km/h =TT &

IIF T ¥ 3FDT Ea =TT AT F:
X 25§ km/h

Ans

2

x s 24§ kmvh

v zzg knvh




Q22 fx+y = 4,xy = 2,y+z=5yz=3,z+x = 6 andzx = 4. then find the value of x* + y3 + z® — 3xy.

s 8 15175,
v 15375,
X 15275,
X 15075,

Question ID : 8161611334
Status : Answered

Chosen Option : 2

,; [ H W - T 70+ 72+ 7% @ O i #X g

Q.
Ans J 399 1.

X 387,

X 389,

X 397,

Question ID : 8161611335
Status : Answered
Chosen Option : 1

Q.24

T v o 7w F 9 1992 F AW g F IR ¥ UsF gUeAS T ¥ @ A FA H wEA A T Ans
g T & TAEF FeATT HL AR BT 1T 727 F 3ol

185 g
180 +

175 +
170 +

165

0
=
®
3 165 + g
5 10 #
g 1 g
£ 155 2
2 150 4 -
15 + % - H
140 L1 [—I
30 7 14 21 28 a4 1
June July August

Weeks

AT A FRF goart F = Agt Hr e F e 30E PR g 9

X130 ST ® 7 oS

V27 Jeg W 14 g
K3 21 Jomg & 28 eI
XK+ 28 g & 4 IFTET




Question ID : 8161611341
Status : Answered
Chosen Option : 2




Q25 v 3 F IRAT 50 cm ¥ $HF &G HR FEAE F G 5 ¢ 1§ WA H v A= A
Ars X 118 em

v 220 cm

X315 cm

X422 em

Question ID : 8161611321
Status : Answered
Chosen Option : 2

Section : General Awareness

Ql Faad2020 g o a ¥ agEr ddr-d@am BCC)y ar  Hiae?
Ans

Question ID : 8161611348
Status : Answered
Chosen Option : 2

Q2 e W A—— [ A AT ST
A X
X 2o o
X 35 erramw
\,4-341?113%@33

Question ID : 8161611357
Status : Answered
Chosen Option : 2

Q3 o wlrary FEEA T AT
Ans xl' -

X 23 g
X 3 5m o
«4'm§3ﬁq
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Q.7 Flagella are the hair-like structures which act as organelles of locomotion in which of the
following organisms?

Ans , 1. Bacteria

x 2. Amoeba
X 3. Virus

x 4. Paramecium
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Q.14 Who is the author of the book 'Kerala: God's Own Country'?

K 1. Sudha Murthy
x 2. Thakazhi Sivasankara Pillai

K 3. Jeet Thayil

J 4. Shashi Tharoor
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Ans

Q.15 Which of the following is a pension scheme introduced by the Government of India exclusively for senior
citizens in May 2017?

Ans , 1. PMVVY
2. PMMVY

3. PMGSY

X X X

4. PMGAY
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Q.18 Who among the following is the co-founder of Twitter?

K 1. Tim Berners-Lee

x 2. Bill Gates
J 3. Jack Dorsey

x 4. Narayan Murthy
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Q.20 River Sharavati plunges as which of the following waterfalls?
Ans x 1. Soochipara

2. Hogenakkal

3. Athirapally

L X X

4. Gerusoppe

Question ID : 8161611358
Status : Answered
Chosen Option : 4

Q.21 T T GA 7 A q¢ FIT-U1 I AA § A1 STl H Gorerelier 82
Ans x 1. dCT Hs K

2.dcTHA D

3.dCcTHTA

L« X X

4.9CTH C

Question ID : 8161611355
Status : Answered

Chosen Option : 4




Q22 o o o @@ FlTW HF DAW T FIT IETRATE
v L oaa

X 23 cpomm

X3azq #g

X 4t o a

Question ID : 8161611346
Status : Answered
Chosen Option : 1

Ans

Q.23 FTaY 2020 TF F I T F HTAR, 800 HIe 3R 1500 HeT A 5T T H T T THS FHS A1 AT

Ans xl.HWWfT?.TUT
Xz.yaawr@taa

xa.ﬂ’rs'ﬂam

"4.3ﬁmsﬁm

Question ID : 8161611367
Status : Answered
Chosen Option : 3




Q2 o @R PAAT T ARAT E I F S Fqq AT AR

e X 1 o

Vv 2

X3 IR

& 4 31 e

Question ID : 8161611365
Status : Answered
Chosen Option : 3

Q25 qgaeht sitq S HsNd q oRET ¥ SR
Ans

x 1'? “HeEraE (Sphincter)
x 2. W(Aorta)
x 3.;,:L AT (Urethra)
J 4.;:L g (Ureter)




